Math 150 Spring 08 Name:

Quiz #2 @ 85 points

Solve the problems on separate paper. Clearly label the problems. Show all steps in order to get credit. No proof, no
credit given

1. Graph the function y =cosx . Show the graph over two periods. Answer the following questions:
a) What is the domain?
b) What is the range?
¢) What is the period?
d) What is the amplitude?
e) What are the x-intercepts?
f) What is the y-intercept?
g) Is the function even or odd? How is that shown in the graph?

2. Graph the following functions on graphing paper. In each case, identify the amplitude (when defined), the

period, and phase shift (when defined) and label the axes accurately. Explain in words what and how you are
graphing.

. 1 .
a) y=l+sinx from —27 to 4x ¢) y=23cos—x over one period

b) y=-2sinx over one period d) y=3sin2 (x —%) over one period

3. Find all real numbe-s x that satisfy each equation. Justify your answers.

a)y cosx =0
b) sinx =0
¢) tanx =0
d) cotx=0

4. Evaluate the following. Give exact answers whenever possible. Justify your answer.
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